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Exercises Fuzzy Logic
November 11, 2010

Assume that A € |—o00,0] and that f :[0,1] — [0, 1] is defined by

Show that f is a bijection. Is the function T : [0, 1] x [0, 1] — [0, 1] given by

T(z,y) = [ (f(z)- [(y))
a t-norm?

Identify the t-norm 7" which is determined by the additive generator ¢ : [0,1] —
0,00], 2+ (1 — )%

Identify the t-norm 7" which is determined by the additive generator ¢ : [0,1] —
[0, 00], z — £2.

Identify for each A € |—o00, 00| the t-norm T which is determined by the additive
generator ¢, : [0,1] — [0, 00], where ¢, is given by

1 () —logz it A=0,
T g
A % otherwise.

Show that the following implication holds: If ¢ : [0,1] — [0,00] is an additive
generator of a continuous Archimedean t-norm 7" and ¢ > 0, then also ¢ -t is an
additive generator of T



